

Generalized fractional kinetic equations involving generalized extended τ - hypergeometric Function

Jai Prakash Patel¹ and Neelam Pandey²

Department of Mathematics,

Govt. Model Science College, Rewa-486001, India.

E.mail: ¹jpnt.84@gmail.com, ²dr.pandeyneelam@gmail.com

Abstract

Recently, introduced an extension of generalized τ -hypergeometric function ${}_3\Gamma_2^\tau(z)$ (R. K. Gupta et al. [5],[6]). In the present paper, authors have established further generalization of fractional kinetic equations involving generalized extended τ -hypergeometric functions. The solution of these generalized fractional kinetic equations were obtained in term of Mittag-Leffler function using Laplace transform.

Keywords: Generalized extended incomplete τ -hypergeometric Function, Fractional kinetic equation, Laplace transforms, Mittag-Leffler function, Fractional calculus.

AMS Subject Classification(2010): 26A33, 33B15, 33B20, 33C20, 44A10, 33E20.

1 Introduction and Preliminaries

1.1 Generalized extended τ -hypergeometric Function

Extended τ hypergeometric function ${}_3\Gamma_2^\tau(z)$ was given by [5], [6] and defined as follows:

$$\begin{aligned} {}_3\Gamma_2^\tau(z) &= {}_3\Gamma_2^\tau((\lambda, k), a, b; c, d; z) \\ &= \frac{\Gamma(c)\Gamma(d)}{\Gamma(a)\Gamma(b)} \sum_{n=0}^{\infty} \frac{[\lambda; k]_n \Gamma(a + \tau n) \Gamma(b + \tau n)}{\Gamma(c + \tau n) \Gamma(d + \tau n)} \frac{z^n}{n!}, \end{aligned} \quad (1.1)$$

$$(k \geq 0; \tau > 0; |z| < 1, \Re(d) > \Re(a) > 0, \Re(c) > \Re(b) > 0 \text{ when } k = 0).$$

Notes:-

(i) If we put $b = d$, then (1.1) reduces to the extended τ -hypergeometric function ${}_2\Gamma_1^\tau(z)$ given by Parmer([10] p.422,eq.(2.1)) as defined as

$${}_2\Gamma_1^\tau(z) = {}_2\Gamma_1^\tau((\lambda, k), b; c; z) = \frac{\Gamma(c)}{\Gamma(b)} \sum_{n=0}^{\infty} \frac{[\lambda; k]_n \Gamma(b + \tau n)}{\Gamma(c + \tau n)} \frac{z^n}{n!} \quad (1.2)$$

$$(\lambda, b \in \mathbb{C}, c \in \mathbb{C} \setminus \mathbb{Z}_0^-, k \geq 0; \tau > 0; |z| < 1, \Re(c) > \Re(b) > 0 \text{ when } k = 0).$$

(ii) If we put $b = d$ and $\tau = 1$, then (1.1) reduces to the extended Gauss hypergeometric function ([3] p. 487, eq.17) given by

$${}_2F_1(z) = {}_2F_1((\lambda, k), b; c; z) = \sum_{n=0}^{\infty} \frac{[\lambda; k]_n (b)_n}{(c)_n} \frac{z^n}{n!}. \tag{1.3}$$

(iii) If we take $\tau = 1$ and $k = 0$ in (1.1), then it reduces to the classical Gauss's hypergeometric function as

$${}_3F_2(z) = {}_3F_2((\lambda, a, b), c, d; z) = \sum_{n=0}^{\infty} \frac{(\lambda)_n (a)_n (b)_n}{(c)_n (d)_n} \frac{z^n}{n!} \tag{1.4}$$

(iv) If we take $b = d$, $\tau = 1$ and $k = 0$ in (1.1), then it reduces to the classical Gauss's hypergeometric function as

$${}_2F_1(z) = {}_2F_1(a, b; c; z) = \sum_{n=0}^{\infty} \frac{(a)_n (b)_n}{(c)_n} \frac{z^n}{n!}. \tag{1.5}$$

1.2 Fractional Kinetic Equations-

If an arbitrary reaction is characterized by a time dependent $N = N(t)$ then it is possible to calculate the rate of change of $\frac{dN}{dt}$ by mathematical equation

$$\frac{dN}{dt} = -d + p,$$

where d is the destruction rate and p is the production rate of N .

Haubold and Mathai [2] established a functional differential equation between the rate of change of reaction, the destruction rate and the production rate as follow:

$$\frac{dN}{dt} = -d(N_t) + p(N_t), \tag{1.6}$$

where $N = N(t)$ is the rate of reaction, $d(N(t))$ is the rate of destruction, $p(N_t)$ is the rate of production and N_t denotes the function defined by $N_t(t^*) = N(t) - t^*$, $t^* > 0$.

A special case of (1.6), when spatial fluctuations or homogeneities in the quantity $N(t)$, are neglected, given by following differential equation (Haubold and Mathai [2] and Kourganoff [19]):

$$\frac{dN_i}{dt} = -c_i N_i(t), \tag{1.7}$$

where initial condition $N_i(t = 0) = N_0$ is the number of density of species i at time $t = 0$, $c_i > 0$. Solution of standard kinetic equation (1.7) is given by (Kourganoff [19]) as

$$N_i(t) = N_0 e^{-c_i t}.$$

If we decline the index i and integrate standard kinetic equation (1.7), we have

$$N(t) - N_0 = -c_0 {}_0D_t^{-1}N(t),$$

where ${}_0D_t^{-1}$ is standard integral operator.

Haubold and Mathai [2] obtained the fractional generalization of the standard kinetic equation (1.7) as

$$N(t) - N_0 = -c_0^\nu {}^{RL}I_{0+}^\nu N(t), \quad (1.8)$$

where ${}^{RL}I_{0+}^\nu = {}_0D_t^{-\nu}$ is Riemann-Liouville fractional integral operator defined as [16].

$${}^{RL}I_{0+}^\nu \{f(t)\} = \frac{1}{\Gamma(\nu)} \int_0^t (t-u)^{\nu-1} du, t > 0, \Re(\nu) > 0. \quad (1.9)$$

Laplace transform of a function $f(z)$ (Sneddon [7]) is given by

$$L\{f(z) : s\} = \int_0^\infty e^{-sz} f(z) dz. \quad (1.10)$$

The laplace transform (1.10) of the Riemann- Liouville fractional integral operator is given by ([16])

$$L\{{}^{RL}I_{0+}^\nu f(t); s\} = s^{-\nu} L\{f(t); s\}. \quad (1.11)$$

Solution of equation (1.8) is given by (Haubold and Mathai [2])

$$N(t) = N_0 \sum_{k=0}^{\infty} \frac{(-1)^k}{\Gamma(\nu k + 1)} (c_0 t)^{\nu k}.$$

Two dimensional Mittag-Leffler function [9] is defined as

$$E_{\alpha,\beta}(z) = \sum_{k=0}^{\infty} \frac{(z)^k}{\Gamma(\alpha k + \beta)}; \quad \alpha, \beta \in \mathbb{C}; \Re(\alpha) > 0, \Re(\beta) > 0. \quad (1.12)$$

2 Generalized Fractional Kinetic Equations

In this section, generalized fractional kinetic equation established as theorems and their special cases (Corollaries).

Theorem 1. *If $d > 0$, $p > 0$, $k \geq 0$, $\tau > 0$, $t > 0$; $\Re(q) > \Re(u) > 0$; $\Re(w) > \Re(v) > 0$ when $k = 0$ and $|\frac{dp}{sp}| < 1$, then the solution of equation*

$$N(t) - N_0 {}_3\Gamma_2^\tau(t) = -d^p {}^{RL}I_{0+}^p N(t) \quad (2.1)$$

is by

$$N(t) = N_0 \frac{\Gamma(w)\Gamma(q)}{\Gamma(u)\Gamma(v)} \sum_{n=0}^{\infty} \frac{[\lambda, k]_n \Gamma(u + \tau n) \Gamma(v + \tau n)}{\Gamma(w + \tau n) \Gamma(q + \tau n)} t^n E_{p,n+1}(-d^p t^p)$$

where $E_{\alpha,\beta}(x)$ is the generalized Mittag-Leffler function given by (1.12).

Proof:- Applying Laplace transform (1.10) on (2.1) and using (1.11), we have

$$L\{N(t); s\} = N_0 L\{ {}_3\Gamma_2^{\tau}(t); s\} - d^p L\{ {}^{RL}I_{0+}^p N(t); s\}$$

$$L\{N(t); s\} = N_0 \left(\int_0^{\infty} e^{-st} \frac{\Gamma(w)\Gamma(q)}{\Gamma(u)\Gamma(v)} \sum_{n=0}^{\infty} \frac{[\lambda, k]_n \Gamma(u + \tau n) \Gamma(v + \tau n)}{\Gamma(w + \tau n) \Gamma(q + \tau n)} \frac{t^n}{n!} dt \right)$$

$$- d^p s^{-p} L\{N(t); s\}$$

therefore,

$$(1 + d^p s^{-p}) L\{N(t); s\} = N_0 \frac{\Gamma(w)\Gamma(q)}{\Gamma(u)\Gamma(v)} \sum_{n=0}^{\infty} \frac{[\lambda, k]_n \Gamma(u + \tau n) \Gamma(v + \tau n)}{\Gamma(w + \tau n) \Gamma(q + \tau n) n!}$$

$$\int_0^{\infty} e^{-st} t^n dt$$

this gives,

$$L\{N(t); s\} = N_0 \frac{\Gamma(w)\Gamma(q)}{\Gamma(u)\Gamma(v)} \sum_{n=0}^{\infty} \frac{[\lambda, k]_n \Gamma(u + \tau n) \Gamma(v + \tau n)}{\Gamma(w + \tau n) \Gamma(q + \tau n)} \frac{1}{s^{n+1}} \frac{1}{(1 + d^p s^{-p})}$$

after simplification of above equation, we get

$$L\{N(t); s\} = N_0 \frac{\Gamma(w)\Gamma(q)}{\Gamma(u)\Gamma(v)} \sum_{n=0}^{\infty} \frac{[\lambda, k]_n \Gamma(u + \tau n) \Gamma(v + \tau n)}{\Gamma(w + \tau n) \Gamma(q + \tau n)} \left\{ \sum_{r=0}^{\infty} (-1)^r d^{pr} s^{-(pr+n+1)} \right\} \quad (2.2)$$

taking inverse Laplace transform of (2.2) and using $L^{-1}\{s^{-p}; t\} = \frac{t^{p-1}}{\Gamma(p)}$, we arrived at

$$N(t) = N_0 \frac{\Gamma(w)\Gamma(q)}{\Gamma(u)\Gamma(v)} \sum_{n=0}^{\infty} \frac{[\lambda, k]_n \Gamma(u + \tau n) \Gamma(v + \tau n)}{\Gamma(w + \tau n) \Gamma(q + \tau n)} L^{-1} \left\{ \sum_{r=0}^{\infty} (-1)^r d^{pr} s^{-(pr+n+1)} \right\}$$

$$= N_0 \frac{\Gamma(w)\Gamma(q)}{\Gamma(u)\Gamma(v)} \sum_{n=0}^{\infty} \frac{[\lambda, k]_n \Gamma(u + \tau n) \Gamma(v + \tau n)}{\Gamma(w + \tau n) \Gamma(q + \tau n)} \left\{ \sum_{r=0}^{\infty} (-1)^r d^{pr} \frac{t^{pr+n}}{\Gamma(pr + n + 1)} \right\}$$

$$= N_0 \frac{\Gamma(w)\Gamma(q)}{\Gamma(u)\Gamma(v)} \sum_{n=0}^{\infty} \frac{[\lambda, k]_n \Gamma(u + \tau n) \Gamma(v + \tau n)}{\Gamma(w + \tau n) \Gamma(q + \tau n)} t^n \left\{ \sum_{r=0}^{\infty} \frac{(-d^p t^p)^r}{\Gamma(pr + n + 1)} \right\}$$

hence,

$$N(t) = N_0 \frac{\Gamma(w)\Gamma(q)}{\Gamma(u)\Gamma(v)} \sum_{n=0}^{\infty} \frac{[\lambda, k]_n \Gamma(u + \tau n) \Gamma(v + \tau n)}{\Gamma(w + \tau n) \Gamma(q + \tau n)} t^n E_{p, n+1}(-d^p t^p)$$

Further, if we put $v = q$ in Theorem 1 reduces to corollary as the extended τ -hypergeometric function.

Corollary 1. *If $d > 0$, $p > 0$, $k \geq 0$, $\tau > 0$, $t > 0$; $\Re(w) > \Re(v) > 0$ and $|\frac{dp}{sp}| < 1$, then the solution of equation*

$$N(t) - N_0 {}_2\Gamma_1^{\tau}(t) = -d^p {}^{RL}I_{0+}^p N(t) \quad (2.3)$$

is by

$$N(t) = N_0 \frac{\Gamma(w)}{\Gamma(v)} \sum_{n=0}^{\infty} \frac{[u, k]_n \Gamma(v + \tau n)}{\Gamma(w + \tau n)} t^n E_{p, n+1}(-d^p t^p)$$

where $E_{\alpha, \beta}(x)$ is the generalized Mittag-Leffler function given by (1.12).

If we put $v = q, \tau = 1$ and $k = 0$ in Theorem 1 reduces to corollary as the Classical Gauss's hypergeometric function.

Theorem 2. If $d > 0, p > 0, k \geq 0, \tau > 0, t > 0; \Re(q) > \Re(u) > 0; \Re(w) > \Re(v) > 0$ when $k = 0$ and $|\frac{dp}{sp}| < 1$, then the solution of equation

$$N(t) - N_0 {}_3\Gamma_2^\tau(d^p t^p) = -d^p {}^{RL}I_{0+}^p N(t) \quad (2.4)$$

is given by,

$$N(t) = N_0 \frac{\Gamma(w)\Gamma(q)}{\Gamma(u)\Gamma(v)} \sum_{n=0}^{\infty} \frac{[\lambda, k]_n \Gamma(u + \tau n) \Gamma(v + \tau n)}{\Gamma(w + \tau n) \Gamma(q + \tau n)} \frac{d^n t^n}{n!} \Gamma(pn + 1) E_{p, pn+1}(-d^p t^p)$$

Proof:- Applying Laplace transform (1.10) on (2.4) and using (1.11), we get

$$\begin{aligned} L\{N(t); s\} &= N_0 L\{{}_3\Gamma_2^\tau(d^p t^p); s\} - d^p L\{{}^{RL}I_{0+}^p N(t); s\} \\ L\{N(t); s\} &= N_0 \left(\int_0^\infty e^{-st} \frac{\Gamma(w)\Gamma(q)}{\Gamma(u)\Gamma(v)} \sum_{n=0}^{\infty} \frac{[\lambda, k]_n \Gamma(u + \tau n) \Gamma(v + \tau n)}{\Gamma(w + \tau n) \Gamma(q + \tau n)} \frac{d^{pn} t^{pn}}{n!} dt \right) \\ &\quad - d^p s^{-p} L\{N(t); s\} \end{aligned}$$

therefore,

$$\begin{aligned} (1 + d^p s^{-p}) L\{N(t); s\} &= N_0 \left(\sum_{k=0}^{\infty} \frac{\Gamma(w)\Gamma(q)}{\Gamma(u)\Gamma(v)} \sum_{n=0}^{\infty} \frac{[\lambda, k]_n \Gamma(u + \tau n) \Gamma(v + \tau n)}{\Gamma(w + \tau n) \Gamma(q + \tau n)} \frac{d^{pn}}{n!} \right) \\ &\quad \int_0^\infty e^{-st} t^{pn} dt \end{aligned}$$

i.e.

$$L\{N(t); s\} = N_0 \frac{\Gamma(w)\Gamma(q)}{\Gamma(u)\Gamma(v)} \sum_{n=0}^{\infty} \frac{[\lambda, k]_n \Gamma(u + \tau n) \Gamma(v + \tau n)}{\Gamma(w + \tau n) \Gamma(q + \tau n)} \frac{d^{pn}}{n!} \frac{\Gamma(pn + 1)}{s^{pn+1}} \frac{1}{(1 + d^p s^{-p})}$$

above equation can be written as

$$\begin{aligned} L\{N(t); s\} &= N_0 \frac{\Gamma(w)\Gamma(q)}{\Gamma(u)\Gamma(v)} \sum_{n=0}^{\infty} \frac{[\lambda, k]_n \Gamma(u + \tau n) \Gamma(v + \tau n)}{\Gamma(w + \tau n) \Gamma(q + \tau n)} \frac{d^{pn}}{n!} \\ &\quad \Gamma(pn + 1) \left\{ \sum_{r=0}^{\infty} (-1)^r d^{pr} s^{-(pr+pn+1)} \right\} \end{aligned} \quad (2.5)$$

taking inverse Laplace transform of (2.5), we get

$$\begin{aligned} N(t) &= N_0 \frac{\Gamma(w)\Gamma(q)}{\Gamma(u)\Gamma(v)} \sum_{n=0}^{\infty} \frac{[\lambda, k]_n \Gamma(u + \tau n) \Gamma(v + \tau n)}{\Gamma(w + \tau n) \Gamma(q + \tau n)} \frac{d^{pn}}{n!} \Gamma(pn + 1) \\ &\quad L^{-1} \left\{ \sum_{r=0}^{\infty} (-1)^r d^{pr} s^{-(pr+pn+1)} \right\} \end{aligned}$$

using $L^{-1}\{s^{-p}; t\} = \frac{t^{p-1}}{\Gamma(p)}$, we obtain

$$N(t) = N_0 \frac{\Gamma(w)\Gamma(q)}{\Gamma(u)\Gamma(v)} \sum_{n=0}^{\infty} \frac{[\lambda, k]_n \Gamma(u + \tau n) \Gamma(v + \tau n)}{\Gamma(w + \tau n) \Gamma(q + \tau n)} \frac{d^{pn}}{n!} \Gamma(pn + 1) \left\{ \sum_{r=0}^{\infty} (-1)^r d^{pr} \frac{t^{pr+pn}}{\Gamma(pr + pn + 1)} \right\}$$

finally,

$$N(t) = N_0 \frac{\Gamma(w)\Gamma(q)}{\Gamma(u)\Gamma(v)} \sum_{n=0}^{\infty} \frac{[\lambda, k]_n \Gamma(u + \tau n) \Gamma(v + \tau n)}{\Gamma(w + \tau n) \Gamma(q + \tau n)} \frac{(dt)^{pn}}{n!} \Gamma(pn + 1) \times \left\{ \sum_{r=0}^{\infty} \frac{(-d^p t^p)^r}{\Gamma(pr + pn + 1)} \right\}$$

hence,

$$N(t) = N_0 \frac{\Gamma(w)\Gamma(q)}{\Gamma(u)\Gamma(v)} \sum_{n=0}^{\infty} \frac{[\lambda, k]_n \Gamma(u + \tau n) \Gamma(v + \tau n)}{\Gamma(w + \tau n) \Gamma(q + \tau n)} \frac{(dt)^{pn}}{n!} \Gamma(pn + 1) E_{p, pn+1}(-d^p t^p)$$

Further, if we put $v = q$ in Theorem 2 reduces to corollary as the extended τ -hypergeometric function.

Corollary 2. *If $d > 0$, $p > 0$, $k \geq 0$, $\tau > 0$, $t > 0$; $\Re(w) > \Re(v) > 0$ and $|\frac{d^p}{s^p}| < 1$, then the solution of equation*

$$N(t) - N_0 {}_2\Gamma_1^\tau(d^p t^p) = -d^p {}^{RL}I_{0+}^p N(t) \tag{2.6}$$

is by

$$N(t) = N_0 \frac{\Gamma(w)}{\Gamma(v)} \sum_{n=0}^{\infty} \frac{[u, k]_n \Gamma(v + \tau n)}{\Gamma(w + \tau n) n!} \Gamma(pn + 1) E_{p, pn+1}(-d^p t^p)$$

where $E_{\alpha, \beta}(x)$ is the generalized Mittag-Leffler function given by (1.12).

If we put $v = q, \tau = 1$ and $k = 0$ in Theorem 2 reduces to corollary as the Classical Gauss's hypergeometric function.

3 Conclusion

In the present paper authors investigated solution of generalized fractional kinetic equation in term of extended τ -hypergeometric functions and some special cases.

4 Acknowledgement

Authers would like to express their sincere thanks to the referee for giving some useful suggestions which led to the present form of the paper.

References

- [1] D. Kumar, S. D. Purohit, A. Secer, A. Atangana, *On generalized fractional kinetic equation involving generalized Bessel functions of the first kind*, *Math. Problem Eng.* 2015, Article ID 289387,7 pp.(2015)
- [2] H. J. Haubold, A. M.Mathai, *The fractional kinetic equation and thermonuclear functions*, *Astrophys. Space Sci* 273 (1) (2000) 53-63.
- [3] H. M. Srivastava, A. Cetinkaya, I. O. Kiyamaz, *A certain generalized Pochhammer symbol and its applications to hypergeometric functions*, *Appl. Math. Comput.*, Vol.216, (2014) 484-491.
- [4] M. J. Luo, R. K. Raina, *On certain classes of fractional kinetic equations*, *Filomat* 28 (10) (2014) 2077-2090.
- [5] R. K. Gupta B. S. Shaktawat D. Kumar, *Some results Associated with extended τ -Gauss Hypergeometric Functions and its Properties*, *Ganit Sandesh* ,Vol 28 No. 1 and 2 (2014) p. 55- 60.
- [6] D. Kumar, *An Extension of the τ -Gauss Hypergeometric Functions and its Properties*, *Mathematical Sciences and Applications E-Notes*, 5(1), 57-63 2017.
- [7] I. N. Sneddol, *The use of integral transform*, *Tata McGraw-Hill* New Delhi, 1979.
- [8] R. K. Saxena, A. M. Mathai, H. J. Haubold, *On generalized fractional kinetic equation*, *Physica A*344 (2014)657-664.
- [9] A. Wiman, *Uber de fundamental theirie der funktionen $E_\alpha(x)$* , *Acta Math.* 29(1) (1905) 191-201.
- [10] R. K. Parmer, *Extended τ -hypergeometric functions and associated properties*, *Computes rendus mathematique*, Vol.353(5), (2015) 421-426.
- [11] K. B. Kachhia J. C. Prajapati, *On generalized fractional kinetic equations involving generalized Lommel-Wright functions*, *Alexandria Engineering Journal*, 55 (3) (2016), 2953-2957 .
- [12] Agarwal, P., Chand, M., Baleanu, D. et al. *On the solutions of certain fractional kinetic equations involving k-Mittag-Leffler function*, *Adv Differ Equ* 249 (2018), doi:10.1186/s13662-018-1694-8.

- [13] Haile Habenom, D. L. Suthar, and Melaku Gebeyehu *Application of Laplace Transform on Fractional Kinetic Equation Pertaining to the Generalized Galu Type Struve Function*, *Advances in Mathematical Physics* Volume 2019, Article ID 5074039, 8 pages <https://doi.org/10.1155/2019/5074039>.
- [14] Ewin Snchez C. and Vega-Jorquera, Pedro, *Modelling temporal decay of aftershocks by a solution of the fractional reactive equation*, *Applied Mathematics and Computation* 340 (2019) 4349.
- [15] R. K. Saxena, S. L. Kalla, *On the solution of certain fractional kinetic equations*, *Appl. Math. Comput.*199, (2008) 504-511.
- [16] S. G. Samko, A. Kilbas, O. Marichev, *Fractional Integral and Derivatives: Theory and Applications*, *Gordon and Breach Sci. Publ.*, New York, 1990.
- [17] V. B. L. Chaurasiya, S. C. Pandey, *On the new computable solution of the generalized fractional kinetic equations involving the generalized function for fractional calculus and related functions*, *Astrophys. Space Sci.* 317(2008) 213-219.
- [18] V. B. L. Chaurasiya, S. C. Pandey, *On the new computable extensions of generalized fractional kinetic equations in Astrophysics*, *Res. Astron. Astrophys.* 10(1) (2010) 22-32.
- [19] V. kourganoff, *Introduction to the Physics of Stellar Interiors*, *D. Reidel Publishing company Dordrecht* 1973.